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2 m
D : Z1=30,Z,= 180
2) D'= 257 mm
3Im=D/Z1+7Z=38
4) A = 840 mm
5 A= (Zi+ Z)m/2 = 840
mm
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o * Zminiz
3. 1 Xmln - ha Zn]in
()l:ZOO ha*: 1 . Zmin: 17, Xmin
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S = m(mn/2+ 2xtga)
S = 10 mm, S:&cosot’:
fcosa,a ,a:a, a=d =20 § =

820 :x=(S/m—7/2)/2tga=0.784 x=—
0. 75> X min

4 :P=30kW n; = 20 1/min
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. Ti=9.55%X 10°P/ ni
= 1.432X 10°(N *m)
Fi=2Ty/ o, F. = F °tga, Fn = Ft/cosa,
Wn= Fu/b
W= ko Wha k:kA°k4°kB
Ks=1 sko= 1. 25 skp=1
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4.3 :
10p = 0, = M/ W< [0y (D
OF — ;[GF]
s M— s W—
oF = ‘_Liél%(nT3YF°YS 2)
m
Yr Yr=22Ys—

Ys=1.72 $s= b/d, = 0.21, b= 50,
di1=240,Z1 =30, m =8 k=125 T,= 1.432
5X 10°N °m.,
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[ or] = oor/ S¥ ° YN ° VX 4)
Oor —
; 6or = 1. 8HB= 540(N/mm?); Sg——
Sp=120; Yo— Y.=0.9;Yx=1

(3) [of] = 245.7 N/mm’
(2) [0 = 140 N/mm?*<C 245.7
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